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1) —x(2x+3) = © (2) (x-2)(2x+3)+5=

(3) (2x-5)*= ° (4) (x—=4)(x+4) =

(5) 3x(8—2x) = © (6) (x—=3)(2-x)+6=

(7) (Bx+4)°= © (8 B+x)(x=3) =

(9) 5x(3x+1) = © (10) (x—3)(2x+5)—(2x-7) =

(11) (3x+2)*= © (12) (x=D@A+x) =
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(1) 2x+3<0= - (2) 3X-7>0=

B) x-3<2= © @) 2x+721=

(5) 4x—24>-20= - (6) 2x—2<3=

(7) 4(x+5)>20 - (8) 2(x-2)<4=
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(1) —x(5x+3) = © () (x=3)(3x+2)+6=

(3) (3x-4)*= © (4 (x-H)(x+5) =

(5) —x(7x—4) = > (6) (6x—5)(x-3)—T7=

(7) (Bx-7)%= = (8) Bx=T)Bx+7) =

(9) —x(6x-1) = ° (10) (x-DBx+D—-4=




(11) (3x-1)? = © (12) (X—B)(x+6) =
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(1) -3x+18<3= ° (2) -3x+24>0=>
(3) 4x+3>-1= ° (4) 3x-7<2=>
(5) 7x-14<0=> ° (6) -3x+12>0=
(7) 6x—(2x+8)<0= °(8) 2x+7>3x—-4 =

% 03w :f2 4758 A

1 j&™ 53 4250

(1) 3-2x=0=x= ° (2) 3x-1=0=>x=

() X*+3x-4=0=>x= . (4) X*+5x+6=0=x=

(5) 2x*—x-3=0=>x= . 6) X*—x—-1=0=>x=

(7) —3x+5=0=x= ° (8) 7-3x=1=x=

(9) X*+x-6=0=x= ° (10) (x—2)(x+3)-6=0=x=
(11) 4x*-8x+4=0=x= ° (12) xX*+x-3=0=>x=

(13) 3—-2x=5=x= ° (14) 4x+20=0 =>x=

(15) X*+5x—6=0=>x= ° (16) X*+6X+9=0=>x=
(17) 3x*—2x-1=0=x= ° (18) X*-2x—-1=0=>x=

(19) x*—2x+1=0=x= ° (20) X*-5x-14=0=>x=
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(1) 3x—1=0=>x= . (2) 7x-11=0=>x=



(3) x*—2x-15=0=x =
(5) 5x*+4x-1=0=x=
(7) x+11=4=x=

(9) x*+8x—20=0=x=
(11) 2x*-15x+28=0=Xx=
(13) 1-3(x—-1)=0=x=
(15) X°+5x+6=0=x=
(17) 6X°+19x—7=0 = x=

(19) 2x*+2x—4=0 = x=
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X* +8x+12=0 = x=

X —2x—-2=0=x=

(Xx-1)(2x+5)=0=x=
X2 +11X+24=0 = x =
X*—bx—6=0=x=
4(8x+1)+1=0=x=
X +x-2=0=x=
X*+6x—-7=0=Xx=

X>4+X=6 = X=
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(1) V18= (2) 6= 3) 464 =
(4) V8= (5) 6= 6) 416 =
(1) (2-3)(1+2V3) = (8) \B+3/24+18-354 =
(9) (V6+3)6-+3)= © (10) 2V3-324+412 =
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(1) V20= = (2) Y21 = - (3) 416=
(4) V12= - (5) 2= . (6) {243 =

(7) (V13-2)(13++2) = - (8) 23+3Y2+53+ Y16 =
9) 3+3/64-27+316 = © (10) (3-+/18)(3+/18) =
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(1) x*—4x+1= ° (2) -3x*—6x+1=
(3) xX*—x+1= ° (4) 2x* —x+1=
(5) x*+4x-1= ° (6) 2x* +4x-1=
(7) —2X*+2x+2= ° (8) 3x*—2x+1=
(9) x*+4x+1= ° (10) —x*—6x+1=
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(1) x*—x+1= ° (2) 2x*—x+1=
(3) x*—6x+5= © (4) 2X"—4x+T7=
(5) x*+x+5= ° (6) 2x*—3x+6=
(7) x*—6x+3= o (8) —3x*+18x+7=
(9) x*-3x-7= o (10) 5x*—3x—-1=
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(1) 5x(3x+1) = ° (2) (x=3)(2x+5)—(2x-7) =
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(1) 4x—-24>-20=
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(1) 3-2x=5=x=

(3) X*+5x—6=0=x=

(5) 3 -2x-1=0=x=
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(1) x*—4x+1=

(3) xX*—x+1=

(4) (x-D@+x) =

(2) 2x-2<3=

(2) 4x+20=0=>x=
(4) X*+6x+9=0=x=
(6) xX*—2x—-1=0=x=

X+2y=1
@ {—2x—5y=1:>(x' y)=

(2) -3x*—6x+1=

(4) 2x* —x+1=
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(1) -3x+18<3 =
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(1) X-1=0=>x=
(3) x?—2x-15=0=x =

(5) 5x2+4x-1=0= x =
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(2) (x-3)(3x+2)+6=

(4) (X=5)(x+5) =

(2) 3x+24>0=>
(2) 7x-11=0=>x=
(4) x*+8x+12=0=x=
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(1) x*—6x+5= ° (2) —2x*—4x+7=

(3) X*+x+5= °  (4) 2x*-3x+6=
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(1) —2x*=3x (2) 2x* —x—1 (3) 4x* —20x+25 (4) x*—-16 (5) —6x* +24x
(6) —x*+5x (7) 9x* +24x+16 (8) x*—9 (9) 15x*>+5x (10) 2x*—-3x-8
(11) 9x* +12x+4 (12) x* -1
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(1) xé—g 2) x<—£ (3) x<5 (4) x<3

(5) x>1 (6) xZ—g (7) x>0 (8) x>0
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(1) B5x*=3x (2) 3x*—7x  (3) 9x* —24x+16 (4) x*-25 (5) —7x*+4x
(6) 6x* —23x+8 (7) 9x* —42x+49 (8) 25x*—49 (9) —6x*+x (10) 3x* —2x-5
(11) 9x* —6x+1 (12) x*-36
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(1) x>5 (2) x<8 (3) x>-1 (4) x=-3 (5) x<£2 (6) x<4 (7) x<2 ,(8)
x<11

i A% %

1 f&2™ 5> f25%

_3 _1 _ o _ .3 RENG
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(13) x=-1 (14) x=-5 (15) x=-6,1 (16) x=-3 (17) x:l,—% (18) x=1+2 -

(19) x=1 (20) x=7,-2
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